Trigonometric Functions Study Guide

SINE FUNCTIONS
Standard Form: y=asin(bx—c)+d

Parent Function y =sinx
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y =—3sin(2x)
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COSINE FUNCTIONS
Standard Form: y=acos(bx—c)+d

Parent Function y =cosx
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COSECANT FUNCTIONS
Standard Form: y=acsc(bx—c)+d
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SECANT FUNCTIONS A I grph g & w3 (b= +d4
Standard Form: y=asec(bx—c)+d
Parent Function y=secx
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TANGENT FUNCTIONS
Standard Form: y=atan(bx—c)+d

Amplitude: ( a |

Parent Function y =tanx
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y=-2tan(x+7)
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COTANGENT FUNCTIONS
Standard Form: y=acot(bx—c)+d

Amplitude: l al :

Parent Function y =cotx
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